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What temperature is 4 ° colder than -7 °C? 

 
……………………………………………………………………………………………… 

 

 what is double 47 

 

 ……………………………………………………………………………………………… 

 

 

 

 Each shape stands for a number      

 

 

 

24 

47 
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Here is a number line. 

                   

      Write a number from the number line in the box to complete the statement 

                                                                           

 What temperature is 6 degrees warmer than −8 °C? 

 

………………………………………………………………………………………………………………………………..     

What temperature is 3 degrees cooler than -7 °C? 

 

………………………………………………………………………………………………………………………………..     

 

 What is the place of the digit 7 in 907 382?  

……………………………………………………………………………………………………………………………….. 

 

What is the value of the digit 9 in 79 382? 

 

……………………………………………………………………………………………………………………………….. 

 

Here is a spatial pattern 

 
a) Draw the next term in the pattern.  

 

b) What number does it represent?        

-5 
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                             fraction                      Percentage  

                                 
1

10
 

 

 

 
 
 
 

                   

                              32 % 

2

5
 

 

                           
  
 

               26 %       

        
3

4
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